



LEFT FIXED MAPS AND α -DERIVATIONS OF KU-ALGEBRA

Samy M. Mostafa¹, Fatema F.Kareem²

1 Department of Mathematics, Faculty of Education, Ain Shams University, Roxy, Cairo, Egypt
samymostafa@yahoo.com

2 Department of Mathematics, Faculty of science, Ain Shams University, Cairo, Egypt
fa_sa20072000@yahoo.com

ABSTRACT

In This paper, we introduce the concept of left fixed maps in a KU-algebra and we discuss some related properties of this concept. Moreover, we study the notion of left-right (resp., right-left) α -derivation in a KU-algebra and establish some results on α -derivation in a KU-algebra.

Keywords : KU-algebra; left fixed map; idempotent map; α -derivation.

SUBJECT CLASSIFICATION

Mathematics Subject Classification: 13A15; 06F35; 13L05.



Council for Innovative Research

Peer Review Research Publishing System

Journal: JOURNAL OF ADVANCES IN MATHEMATICS

Vol .9, No 7

www.cirjam.com , editorjam@gmail.com



1. INTRODUCTION

BCK and BCI-algebras are first introduced by Imai and Is'eki [5, 6]. Later on, Prabpayak and Leerawat [12, 13] introduced a new algebraic structure which is called KU-algebra. They gave the concept of homomorphisms of KU-algebras and investigated some related properties. Many authors studied the left and the right fixed maps; see [3, 7, 9]. The notion of derivation is an important topic in mathematics. Usually, the properties of central derivations were discussed in several papers with respect to the ring structures. In [8] Y.B. Jun and X.L. Xin applied the derivation in ring theory to BCI-algebras, and they introduced a new concept called a regular derivation in BCI-algebras. Also, many research articles are studied the derivation by different ways; see [1, 2, 4, 10, 14]. In this paper, we define the concept of a left fixed map in KU-algebra X and then investigate some related properties. Also, by using the definition of idempotent map, we discuss some properties of idempotent left fixed map of X . Moreover, we study the notion of α -derivation in KU-algebra X and establish some results on α -derivation in a KU-algebra.

2. Preliminaries

Now, we will recall some known concepts related to KU-algebra from the literature which will be helpful in further study of this article.

Definition 2.1. [12, 13] Algebra $(X, *, 0)$ of type $(2, 0)$ is said to be a KU-algebra, if it satisfies the following axioms: For all $x, y, z \in X$,

$$(ku_1) \quad (x * y) * [(y * z) * (x * z)] = 0,$$

$$(ku_2) \quad x * 0 = 0,$$

$$(ku_3) \quad 0 * x = x,$$

$$(ku_4) \quad x * y = 0 \text{ and } y * x = 0 \text{ implies } x = y,$$

$$(ku_5) \quad x * x = 0.$$

On a KU-algebra $(X, *, 0)$ we can define a binary relation \leq on X by putting:

$$x \leq y \Leftrightarrow y * x = 0.$$

Thus KU-algebra X satisfies the conditions:

For all $x, y, z \in X$,

$$(ku_1) \quad (y * z) * (x * z) \leq (x * y),$$

$$(ku_2) \quad 0 \leq x,$$

$$(ku_3) \quad x \leq y, y \leq x \text{ implies } x = y,$$

$$(ku_4) \quad y * x \leq x.$$

Theorem 2.2. [11] In a KU-algebra X , the following axioms are satisfied:

For all $x, y, z \in X$,

$$(1) \quad x \leq y \text{ imply } y * z \leq x * z,$$

$$(2) \quad x * (y * z) = y * (x * z), \text{ for all } x, y, z \in X,$$

$$(3) \quad ((y * x) * x) \leq y.$$

We will refer to X is a KU-algebra unless otherwise indicated.

Definition 2.3. [12] A non-empty subset S of a KU-algebra $(X, *, 0)$ is called a KU-sub algebra of X if $x * y \in S$ whenever $x, y \in S$.



Definition 2.4. [12, 13] A non-empty subset I of a KU -algebra $(X, *, 0)$ is called an ideal of X if for any $x, y \in X$,

- (i) $0 \in I$,
- (ii) $x * y, x \in I$ imply $y \in I$.

Definition 2.5. We define $x \wedge y = (y * x) * x$, then a KU-algebra $(X, *, 0)$ is said to be KU-commutative if it satisfies: for all x, y in X , $(y * x) * x = (x * y) * y$, i.e. $x \wedge y = y \wedge x$.

Example 2.6. Let $X = \{0, a, b, c, d, e\}$ be a set with the operation $*$ defined by the following table

*	0	a	b	c	d	e
0	0	a	b	c	d	e
a	0	0	b	c	b	c
b	0	a	0	b	a	d
c	0	a	0	0	a	a
d	0	0	0	b	0	b
e	0	0	0	0	0	0

Using the algorithms in Appendix A, we can prove that $(X, *, 0)$ is a KU-algebra and $\{0, a\}, \{0, b, c\}$ are ideals of X .

3. Left fixed maps.

Definition 3.1. A left fixed map α of X is defined to be a self map $\alpha : X \rightarrow X$ satisfying $\alpha(x * y) = x * \alpha(y)$ for all $x, y \in X$.

Example 3.2. Let $X = \{0, a, b, c, d\}$ be a set with the operation $*$ defined by the following table:

*	0	a	b	c	d
0	0	a	b	c	d
a	0	0	b	c	d
b	0	a	0	c	c
c	0	0	b	0	b
d	0	0	0	0	0

Using the algorithms in Appendix A, we can prove that $(X, *, 0)$ is a KU-algebra and the self map α of X defined by $\alpha(0) = 0, \alpha(a) = 0, \alpha(b) = b, \alpha(c) = 0$ and $\alpha(d) = b$, it is easy to verify that α is a left fixed map of X .

Example 3.3. In Example 2.6. Let $\alpha : X \rightarrow X$ be defined by $\alpha(0) = 0, \alpha(a) = 0, \alpha(b) = b, \alpha(c) = c, \alpha(d) = b$ and $\alpha(e) = d$. Then α is not a left fixed map of X since $c = \alpha(a * e) \neq a * \alpha(e) = b$.

Lemma 3.4. If α is a left fixed map of X , then

- (i) $\alpha(0) = 0$,
- (ii) $\forall x \in X, \alpha(x * 0) = 0$,
- (iii) $\forall x \in X, \alpha(x) \leq x$,



$$(iv) \forall x, y \in X, x \leq y \Rightarrow \alpha(x) \leq y.$$

Proof.

$$(i) \forall x, y \in X, \text{ we have } \alpha(0) = \overbrace{\alpha(\alpha(0) * 0)}^{\text{by (KU}_2)} = \alpha(0) * \alpha(0) = 0.$$

$$(ii) \forall x, y \in X, \text{ we have } \alpha(x * 0) = \alpha(0) = 0.$$

$$(iii) \text{ For any } x \in X, \text{ we get } 0 = \alpha(0) = \alpha(x * x) = x * \alpha(x), \text{ hence } \alpha(x) \leq x.$$

$$(iv) \text{ Suppose that } x \leq y \text{ for every } x, y \in X, \text{ then } y * x = 0 \text{ it follows that } 0 = \alpha(0) = \alpha(y * x) = y * \alpha(x), \text{ hence } \alpha(x) \leq y.$$

Lemma 3.5. If α and β are left fixed maps of X , then $\alpha \circ \beta$ is a left fixed map of X .

Proof. Let α and β be left fixed maps of X . Then, for all $x, y \in X$

$$(\alpha \circ \beta)(x * y) = \alpha(\beta(x * y)) = \alpha(x * \beta(y)) = x * \alpha(\beta(y)) = x * (\alpha \circ \beta)(y). \text{ Hence } \alpha \circ \beta \text{ is a left fixed map of } X.$$

Definition 3.6. For a left fixed map α of X , the kernel of α denoted by $\ker(\alpha)$, is defined to be the set $\ker(\alpha) = \{x \in X : \alpha(x) = 0\}$.

Lemma 3.7. Let α be a left fixed map of X . Then $\ker(\alpha)$ is subalgebra of X .

Proof. Since $0 \in \ker(\alpha)$, so $\ker(\alpha) \neq \emptyset$. Let $x, y \in \ker(\alpha)$, then $\alpha(x) = 0$ and $\alpha(y) = 0$. It follows that $\alpha(x * y) = x * \alpha(y) = x * 0 = 0$, hence $x * y \in \ker(\alpha)$. Thus $\ker(\alpha)$ is subalgebra of X .

Theorem 3.8. Let α be a left fixed map of X . Then α is one to one if and only if $\ker(\alpha) = 0$.

Proof. Suppose that α is one to one and $x \in \ker(\alpha)$. Then $\alpha(x) = 0 = \alpha(0)$, and thus $x = 0$, i.e., $\ker(\alpha) = \{0\}$.

Conversely, suppose that $\ker(\alpha) = \{0\}$. Let $x, y \in X$ be such that $\alpha(x) = \alpha(y)$. It follows that $\alpha(x * y) = x * \alpha(y) = x * \alpha(x) = \alpha(x * x) = \alpha(0) = 0$. Hence $x * y \in \ker(\alpha)$, and so $x * y = 0$. Similarly, $y * x = 0$ thus $x = y$. Therefore α is one to one.

Theorem 3.9. Let α be a left fixed map of X . Then α is one to one if and only if α is the identity map.

Proof. Sufficiency is obvious. Suppose that α is one to one. For every $x \in X$, we have

$$\alpha(\alpha(x) * x) = \alpha(x) * \alpha(x) = 0 = \alpha(0) \text{ and so } \alpha(x) * x = 0, \text{ i.e., } x \leq \alpha(x). \text{ Since } \overbrace{\alpha(x) \leq x}^{\text{from Lemma 3.4 (iii)}} \text{ for all } x \in X, \text{ it follows that } \alpha(x) = x \text{ thus } \alpha \text{ is the identity map.}$$

Lemma 3.10. Let X be a commutative KU-algebra. If $x \in \ker(\alpha)$ and $y \leq x$, then $y \in \ker(\alpha)$.

Proof. Let $x \in \ker(\alpha)$ and $y \leq x$. Then $\alpha(x) = 0$ and $x * y = 0$.

$$\alpha(y) = \alpha(0 * y) = \alpha((x * y) * y) = \alpha((y * x) * x) = (y * x) * \alpha(x) = (y * x) * 0 = 0, \text{ thus } y \in \ker(\alpha).$$

Lemma 3.11. Let α be an endomorphism left fixed map of X . Then $\ker(\alpha)$ is an ideal of X .

Proof. Clearly, $0 \in \ker(\alpha)$. Let $x \in \ker(\alpha)$ and $x * y \in \ker(\alpha)$. Then we have $\alpha(x) = 0$ and $\alpha(x * y) = 0$, thus $0 = \alpha(x * y) = \alpha(x) * \alpha(y) = 0 * \alpha(y) = \alpha(y)$. This implies $y \in \ker(\alpha)$. Hence $\ker(\alpha)$ is an ideal of X .

Theorem 3.12. Let α be a left fixed map of X . If α is idempotent, i.e., $\alpha(\alpha(x)) = \alpha(x)$ for all $x \in X$, then

$$(i) \ker(\alpha) \cap \text{Im}(\alpha) = \{0\},$$



(ii) $\alpha(x) = x \Leftrightarrow x \in \text{Im}(\alpha)$, for all $x \in X$.

Proof. (i) If $x \in \ker(\alpha) \cap \text{Im}(\alpha)$, then $\alpha(x) = 0$ and $\alpha(y) = x$ for some $y \in X$. It follows that $0 = \alpha(x) = \alpha(\alpha(y)) = \alpha(y) = x$, thus $\ker(\alpha) \cap \text{Im}(\alpha) = \{0\}$.

(ii) Sufficiency is obvious. If $x \in \text{Im}(\alpha)$, then $\alpha(y) = x$ for some $y \in X$. Thus $\alpha(x) = \alpha(\alpha(y)) = \alpha(y) = x$.

Denote by $LF(X)$ the set of all left fixed maps of X . Let \oplus be a binary operation on $LF(X)$ defined by $(\alpha \oplus \beta)(x) = \alpha(x) * \beta(x)$ for all $\alpha, \beta \in LF(X)$ and $x \in X$. It is easy to verify that $(LF(X), \oplus)$ is a KU-algebra. Let $ILF(X)$ be the set of all idempotent left fixed maps of X .

Theorem 3.13. For every $\alpha, \beta \in ILF(X)$, if $\alpha \oplus \beta = 0$ in $LF(X)$, then $\text{Im}(\beta) \subset \text{Im}(\alpha)$.

Proof. Let $\alpha, \beta \in ILF(X)$ satisfy $\alpha \oplus \beta = 0$. If $y \in \text{Im}(\beta)$, then by Theorem 3.12 $\beta(y) = y$. Hence $0 = (\alpha \oplus \beta)(y) = \alpha(y) * \beta(y) = \alpha(y) * y$, i.e., $y \leq \alpha(y)$. Combining this with Lemma 3.4(iii), we get $y = \alpha(y) \in \text{Im}(\alpha)$. Hence $\text{Im}(\beta) \subset \text{Im}(\alpha)$.

Theorem 3.14. Let $\alpha, \beta \in ILF(X)$, then

- (i) If $\alpha(\beta(x)) = \beta(\alpha(x))$ for all $x \in X$, then $\alpha \oplus \beta \in ILF(X)$,
- (ii) If $\text{Im}(\beta) \subset \text{Im}(\alpha)$ and $\alpha(\beta(x)) = \beta(\alpha(x))$ for all $x \in X$, then $\alpha \oplus \beta = 0$ in $LF(X)$,
- (iii) $\text{Im}(\beta) \cap \ker(\alpha) \subset \text{Im}(\alpha \oplus \beta)$.

Proof. (i) Assume that $\alpha(\beta(x)) = \beta(\alpha(x))$ for all $x \in X$. Then

$$\begin{aligned} (\alpha \oplus \beta)((\alpha \oplus \beta)(x)) &= (\alpha \oplus \beta)(\alpha(x) * \beta(x)) \\ &= \alpha(\alpha(x) * \beta(x)) * \beta(\alpha(x) * \beta(x)) \\ &= (\alpha(x) * \alpha(\beta(x))) * (\alpha(x) * \beta(\beta(x))) \\ &= (\alpha(x) * \beta(\alpha(x))) * (\alpha(x) * \beta(x)) \\ &= \beta(\alpha(x) * \alpha(x)) * (\alpha(x) * \beta(x)) \\ &= \beta(0) * (\alpha \oplus \beta)(x) \\ &= (\alpha \oplus \beta)(x). \end{aligned}$$

That is $(\alpha \oplus \beta)$ is idempotent, hence $\alpha \oplus \beta \in ILF(X)$.

(ii) Suppose that $\text{Im}(\beta) \subset \text{Im}(\alpha)$ and $\alpha(\beta(x)) = \beta(\alpha(x))$ for all $x \in X$.

Since $\beta(x) \in \text{Im}(\beta) \subset \text{Im}(\alpha)$ for all $x \in X$, it follows from theorem 3.12 that

$$(\alpha \oplus \beta)(x) = \alpha(x) * \beta(x) = \alpha(x) * \alpha(\beta(x)) = \alpha(x) * \beta(\alpha(x)) = \beta(\alpha(x) * \alpha(x)) = \beta(0) = 0, \text{ for all } x \in X, \text{ hence } \alpha \oplus \beta = 0.$$

(iii) If $y \in \text{Im}(\beta) \cap \ker(\alpha)$, then $\beta(x) = y$ and $\alpha(y) = 0$ for some $x \in X$. It follows from ku_5 that $y = \beta(x) = 0 * \beta(\beta(x)) = \alpha(y) * \beta(y) = (\alpha \oplus \beta)(y) \in \text{Im}(\alpha \oplus \beta)$. Hence $\text{Im}(\beta) \cap \ker(\alpha) \subset \text{Im}(\alpha \oplus \beta)$.

4. The derivations of left fixed maps in KU-algebras.

In this section, we introduce the notion of the derivations fixed maps and investigate their properties in KU-algebra.

In what follows, let α be a left fixed map and d_α be a self map of X .



Definition 4.1. A self map d_α of X is called a $(l, r)_\alpha$ -derivation of X if it satisfies:

$$d_\alpha(x * y) = (d_\alpha(x) * \alpha(y)) \wedge (\alpha(x) * d_\alpha(y)) \text{ for all } x, y \in X .$$

If d_α satisfies the following: $d_\alpha(x * y) = (\alpha(x) * d_\alpha(y)) \wedge (d_\alpha(x) * \alpha(y))$ for all $x, y \in X$, then it is called a $(r, l)_\alpha$ -derivation of X . If d_α is both a $(l, r)_\alpha$ -derivation and a $(r, l)_\alpha$ -derivation of X , we say that d_α is a α -derivation of X .

In definition above, if α is the identity map, then d_α is denoted by d and is called a (l, r) -derivation (resp. a (r, l) -derivation) of X .

Definition 4.2. A α -derivation of a KU-algebra is called regular if $d_\alpha(0) = 0$.

Lemma 4.3. A α -derivation d_α of a KU-algebra is regular.

Proof.

If d_α is a $(l, r)_\alpha$ -derivation of X ,

$$\begin{aligned} d_\alpha(0) &= d_\alpha(x * 0) = (d_\alpha(x) * \alpha(0)) \wedge (\alpha(x) * d_\alpha(0)) \\ &= (d_\alpha(x) * 0) \wedge (\alpha(x) * d_\alpha(0)) \\ &= 0 \wedge (\alpha(x) * d_\alpha(0)) = [(\alpha(x) * d_\alpha(0)) * 0] * 0 = 0 \end{aligned}$$

If d_α is a $(r, l)_\alpha$ -derivation of X ,

$$\begin{aligned} d_\alpha(0) &= d_\alpha(x * 0) = (\alpha(x) * d_\alpha(0)) \wedge (d_\alpha(x) * \alpha(0)) \\ &= (\alpha(x) * d_\alpha(0)) \wedge (d_\alpha(x) * 0) \\ &= (\alpha(x) * d_\alpha(0)) \wedge 0 \\ &= [0 * (\alpha(x) * d_\alpha(0))] * (\alpha(x) * d_\alpha(0)) \\ &= (\alpha(x) * d_\alpha(0)) * (\alpha(x) * d_\alpha(0)) = 0 \end{aligned}$$

Example 4.4. In Example 3.2. Define a map $d_\alpha : X \rightarrow X$ by

$$d_\alpha(x) = \begin{cases} 0 & x \in \{0, a, b, c\} \\ b & x = d \end{cases}$$

Then it is easy to show that d_α is both a $(l, r)_\alpha$ and $(r, l)_\alpha$ -derivation of X .

Lemma 4.5. Let d_α be a self map of KU-algebra X , then

- (i) If d_α is a $(l, r)_\alpha$ -derivation of X , then $d_\alpha(x) = \alpha(x) \wedge d_\alpha(x)$ for all $x \in X$.
- (ii) If d_α is a $(r, l)_\alpha$ -derivation of X , then $d_\alpha(x) = d_\alpha(x) \wedge \alpha(x)$ for all $x \in X$.

$$\begin{aligned} d_\alpha(x) &= d_\alpha(0 * x) = (d_\alpha(0) * \alpha(x)) \wedge (\alpha(0) * d_\alpha(x)) \\ &= (0 * \alpha(x)) \wedge (0 * d_\alpha(x)) \\ &= \alpha(x) \wedge d_\alpha(x) \end{aligned}$$

Proof. (i) Let d_α be a $(l, r)_\alpha$ -derivation of X , then

- (ii) Let d_α be a $(r, l)_\alpha$ -derivation of X , then



$$\begin{aligned}d_{\alpha}(x) &= d_{\alpha}(0 * x) = (\alpha(0) * d_{\alpha}(x)) \wedge (d_{\alpha}(0) * \alpha(x)) \\ &= (0 * d_{\alpha}(x)) \wedge (0 * \alpha(x)) \\ &= d_{\alpha}(x) \wedge \alpha(x).\end{aligned}$$

Lemma 4.6. Let d_{α} be a $(r, l)_{\alpha}$ -derivation of X , then for all $x, y \in X$,

- (1) $d_{\alpha}(x) \leq \alpha(x)$,
- (2) $d_{\alpha}(x * y) \leq x * \alpha(y)$.

Proof. Let d_{α} be a $(r, l)_{\alpha}$ -derivation of X , then

- (1) From Lemma 4.5(ii)

$$\begin{aligned}d_{\alpha}(x) &= d_{\alpha}(x) \wedge \alpha(x) \\ &= (\alpha(x) * d_{\alpha}(x)) * d_{\alpha}(x) \leq \alpha(x).\end{aligned}$$

- (2) from (1) $d_{\alpha}(x * y) \leq \alpha(x * y) = x * \alpha(y)$.

Definition 4.7. Let d_{α} be a α -derivation of a KU-algebra X . Then, d_{α} is said to be an isotone α -derivation if $x \leq y \Rightarrow d_{\alpha}(x) \leq d_{\alpha}(y)$ for all $x, y \in X$.

Lemma 4.8. Let X be a KU-algebra and d_{α} be a α -derivation on X . For all $x, y \in X$, if $d_{\alpha}(x * y) = d_{\alpha}(x) * d_{\alpha}(y)$, then d_{α} is an isotone α -derivation.

Proof. Let $d_{\alpha}(x * y) = d_{\alpha}(x) * d_{\alpha}(y)$. If $x \leq y \Rightarrow y * x = 0$ for all $x, y \in X$. Then, we have

$$\begin{aligned}d_{\alpha}(x) &= d_{\alpha}(0 * x) \\ &= d_{\alpha}((y * x) * x) \\ &= d_{\alpha}(y * x) * d_{\alpha}(x) \\ &= [d_{\alpha}(y) * d_{\alpha}(x)] * d_{\alpha}(x) \\ &\leq d_{\alpha}(y)\end{aligned}$$

Thus $d_{\alpha}(x) \leq d_{\alpha}(y)$ which implies that d_{α} is an isotone α -derivation.

Lemma 4.9. Let X be a KU-algebra with partial order \leq , and d_{α} be a α -derivation of X . Then the following hold for all $x, y \in X$:

- (i) $d_{\alpha}(x * y) \leq d_{\alpha}(x) * \alpha(y)$
- (ii) $d_{\alpha}(x * y) \leq \alpha(x) * d_{\alpha}(y)$
- (iii) $\ker d_{\alpha} = \{x \in X : d_{\alpha}(x) = 0\}$ is a subalgebra of X .

Proof. (i)

$$\begin{aligned}(d_{\alpha}(x) * \alpha(y)) * d_{\alpha}(x * y) &= (d_{\alpha}(x) * \alpha(y)) * \overbrace{[(d_{\alpha}(x) * \alpha(y)) \wedge (\alpha(x) * d_{\alpha}(y))]}^{(l,r)_{\alpha}\text{-derivation}} \\ &= (d_{\alpha}(x) * \alpha(y)) * \{[(\alpha(x) * d_{\alpha}(y)) * (d_{\alpha}(x) * \alpha(y))] * (d_{\alpha}(x) * \alpha(y))\} \\ &= \overbrace{[(\alpha(x) * d_{\alpha}(y)) * (d_{\alpha}(x) * \alpha(y))] * \{(d_{\alpha}(x) * \alpha(y)) * (d_{\alpha}(x) * \alpha(y))\}}^{Th.2(2)} \\ &= [(\alpha(x) * d_{\alpha}(y)) * (d_{\alpha}(x) * \alpha(y))] * 0 = 0\end{aligned}$$



Then $d_\alpha(x * y) \leq d_\alpha(x) * \alpha(y)$

Similarly, if d_α is a $(r, l)_\alpha$ -derivation of X , then $d_\alpha(x * y) \leq d_\alpha(x) * \alpha(y)$.

(ii) If d_α is $(l, r)_\alpha$ -derivations of X , we have

$$\begin{aligned} (\alpha(x) * d_\alpha(y)) * d_\alpha(x * y) &= (\alpha(x) * d_\alpha(y)) * \overbrace{[(d_\alpha(x) * \alpha(y)) \wedge (\alpha(x) * d_\alpha(y))]}^{(l,r)_\alpha\text{-derivation}} \\ &= (\alpha(x) * d_\alpha(y)) * \{[(\alpha(x) * d_\alpha(y)) * (d_\alpha(x) * \alpha(y))] * (d_\alpha(x) * \alpha(y))\} \\ &= \overbrace{[(\alpha(x) * d_\alpha(y)) * (d_\alpha(x) * \alpha(y))] * \{(\alpha(x) * d_\alpha(y)) * (d_\alpha(x) * \alpha(y))\}}^{Th.2(2)} \\ &= 0 \end{aligned}$$

Then $d_\alpha(x * y) \leq \alpha(x) * d_\alpha(y)$

Similarly, if d_α is a $(r, l)_\alpha$ -derivation of X , then $d_\alpha(x * y) \leq \alpha(x) * d_\alpha(y)$.

(iii) We have $d_\alpha(0) = 0$, then $\ker d_\alpha \neq \emptyset$. Let $x, y \in \ker d_\alpha$, then $d_\alpha(x) = 0, d_\alpha(y) = 0$, $d_\alpha(x * y) = (d_\alpha(x) * \alpha(y)) \wedge (\alpha(x) * d_\alpha(y)) = (0 * \alpha(y)) \wedge (\alpha(x) * 0) = \alpha(y) \wedge 0 = 0$. Hence $x * y \in \ker d_\alpha$. Therefore, $\ker d_\alpha = \{x \in X : d_\alpha(x) = 0\}$ is a subalgebra of X .

Definition 4.10. An ideal A of KU-algebra X is said to be an α -ideal if $\alpha(A) \subseteq A$.

Definition 4.11. Let d_α be a self map of a KU-algebra X . An α -ideal A of X is said to be d_α -invariant if $d_\alpha(A) \subseteq A$.

Theorem 4.12. Let d_α be a regular $(r, l)_\alpha$ -derivation of a KU-algebra X , then every α -ideal A of X is d_α -invariant.

Proof. By Lemma 4.6(1), we have $d_\alpha(x) \leq \alpha(x)$ for all $x \in X$. Let $y \in d_\alpha(A)$. Then $y = d_\alpha(x)$ for some $x \in A$. It follows that $\alpha(x) * y = \alpha(x) * d_\alpha(x) = 0 \in A$. Since $x \in A$, then $\alpha(x) \in \alpha(A) \subseteq A$ as A is an α -ideal. It follows that $y \in A$ since A is an ideal of X . Hence $d_\alpha(A) \subseteq A$, and thus A is d_α -invariant.

Theorem 4.13. Let d_α be a α -derivation of a KU-algebra X , then d_α is regular if and only if every α -ideal of X is d_α -invariant.

Proof. Let d_α be a α -derivation of a KU-algebra X and assume that every α -ideal of X is d_α -invariant. Then since the zero ideal $\{0\}$ is α -ideal and d_α -invariant, we have $d_\alpha(\{0\}) \subseteq \{0\}$, which implies that $d_\alpha(0) = 0$. Thus d_α is regular. Combining this and Theorem 4.12, the proof is complete.

5. Conclusion.

We have introduced the concept of left fixed maps in KU-algebra X . Also, by using the definition of idempotent map, we discussed some properties of idempotent left fixed maps of X . In the present paper, the notion of left-right (resp., right-left) α -derivation is introduced and investigated the useful properties of these types derivations in KU-algebras, for example, we have proved that, if d_α is a regular $(r, l)_\alpha$ -derivation of a KU-algebra X , then every α -ideal A of X is d_α -invariant.

In our opinion, these definitions and main results can be similarly extended to some other algebraic systems such as BCH-algebra, Hilbert algebra, BF-algebra, J-algebra, WS-algebra, CI-algebra, SU-algebra, BCL-algebra, BP-algebra, Coxeter algebra, BO-algebra and so forth.

The main purpose of our future work is to investigate the derivations ideals in KU-algebras, which may have a lot of applications in different branches of theoretical physics and computer science.



Appendix A. Algorithms

This appendix contains all necessary algorithms

Algorithm for KU-algebras

Input (X : set, $*$: binary operation)

Output (“ X is a KU-algebra or not”)

Begin

If $X = \emptyset$ then go to (1.);

Endif

If $0 \notin X$ then go to (1.);

Endif

Stop: =false;

$i := 1$;

While $i \leq |X|$ and not (Stop) do

If $x_i * x_i \neq 0$ then

Stop: = true;

Endif

$j := 1$

While $j \leq |X|$ and not (Stop) do

If $((y_j * x_i) * x_i) \neq 0$ then

Stop: = true;

Endif

Endif

$k := 1$

While $k \leq |X|$ and not (Stop) do

If $(x_i * y_j) * ((y_j * z_k) * (x_i * z_k)) \neq 0$ then

Stop: = true;

Endif

Endif While

Endif While

Endif While

If Stop then

(1.) Output (“ X is not a KU-algebra”)

Else

Output (“ X is a KU-algebra”)

Endif

End

Algorithm for an ideal



Input (X : KU-algebra, I : subset of X);

Output (“ I is an ideal of X or not”);

Begin

If $I = \phi$ then go to (1.);

EndIf

If $0 \notin I$ then go to (1.);

EndIf

Stop: =false;

$i := 1$;

While $i \leq |X|$ and not (Stop) do

$j := 1$

While $j \leq |X|$ and not (Stop) do

If $(x_i * y_j) \in I$ and $x_i \in I$ then

If $y_j \notin I$ then

Stop: = true;

EndIf

EndIf

EndIf While

EndIf While

EndIf While

If Stop then

Output (“ I is an ideal of X ”)

Else

(1.) Output (“ I is not ideal of X ”)

EndIf

End

ACKNOWLEDGMENTS

The authors are thankful to the referees for a careful reading of the paper and for valuable comments and suggestions.

REFERENCES

- [1] Abujabal, H.A. and Al-shehri, N.O., 2006, Some results on derivations of BCI-algebras, J.Natur.Sci.Math. 46(1) 13-19.
- [2]] Abujabal, H.A. and Al-shehri, N.O., 2007, On left derivations of BCI-algebras, Soochow J. Math., 33(3) 435-444.
- [3] Ahn, S.S., Kim, H. S. and Lee H. D., 2004, R-maps and L-maps in Q-algebra, Int. J. Pure Appl. Math., 12 (4) 419-425.
- [4] Ilbira, S., Firat, A. and Jun ,Y.B., 2011, On symmetric bi-derivations of BCI-algebras, Appl. Math.Sci. 5(57) 2957-2966.
- [5] Imai, Y. and Iseki, K. , 1966, On axiom systems of Propositional calculi, XIV, Proc. Japan Acad. Ser A Math Sci., 42,19-22.
- [6] Iseki, K.,1966, An algebra related with propositional calculi, Proc. Japan Acad. SerA Math. Sci., 42 , 26-29.
- [7] Jun ,Y.B., Park,C.H. and Roh, E.H.,2008, Order systems, ideals and right fixed maps of subtraction algebras, Commun.Korean Math.Soc., 23(1) 1-10.



- [8] Jun, Y.B. and Xin, X.L., 2004, On derivations of BCI-algebras, *Inform.Sci.*, 159(3) 167-176.
- [9] Kim, K.H., 2010, On left fixed maps of BE-algebras, *Math. Japo.*, 381-385.
- [10] Lee, K.J., 2013, A new kind of derivations in BCI-algebras, *Appl.Math.Sci.*, 7(84) 4185-4194.
- [11] Mostafa, S.M., Abd-Elnaby, M.A. and Yousef, M.M.M., 2011, Fuzzy ideals of KU-Algebras, *Int. Math. Forum*, 6(63) 3139-3149.
- [12] Prabpayak, C. and Leerawat, U., 2009, On ideals and congruence in KU-algebras, *Scientia Magna*, 5(1) 54-57.
- [13] Prabpayak, C. and Leerawat, U., 2009, On isomorphisms of KU-algebras, *Scientia Magna*, 5(3) 25-31.
- [14] Zhan, J. and Yong, L.L., 2005, On f-derivations of BCI-algebras, *Int. J. Math. Math. Sci.*, 11, 1675-1684.

